@b~ rdhlhieb\guc r_kl_j gqZluc gZkhk (
LbihjZaf_j

l[jhba\h”~bl_evghklv gZkhkZz Ihlj _[ey_fzZy fhsghklv
ljhba\h~bl_evghklv e q Fhsghklv <I
400 900
= = ' 800 -
700 ] %,..E7a
300 T~ 1ET —alPE =
- 600 — > et
'~~~ = -t -
BEnEAREE 500 - e T
200 ’ | 400 T
10 15 20 25 30 I
300
300 ‘H ‘—- 10 15 20 25 30
— 700 —
- = -E6 |
= pe= 600 1
200 . —
- } Ay 500 = :-’T} £
T | ,H 400 - - w =T I
I | T ™~ l ,ﬁi ,_/-‘—l A - _
100 | | | | 300 ’l :|% ""r—ﬁﬁ } Eﬁl_
10 15 20 25 30 507~ =
<yadhlv—  KkKI >Z\e_gb_ [Z] ! s
it kKl 100
- -- kKI 10 15 20 25 30
<yad h kv— kK >Z\e_gb_ [Zj
GhfbgZevgzZy kdhjhklv h[ fbg - EE:
>7Zggu_ mdZaZgu k mqg_lhf aZiZzkZ gZ baghkGhfbgZevgZy kdhjhklv h[ fbg

ljb ih~[hj_ gzZkhkzZ g_ aZ\urZcl_ _]h ijhba\h”bl_evghklv

=Z[Zjblgu_ jzZaf_ju

IhdZazgh gZ ijbf_j_ & \jZs_gby b \uoh”Z gZ nhjkmgdm

Ebgby \kZku\Zgby beb ihjl \Zdmmff_Ijz
H[jZlgZy ebgby b \gmlj_ggyy aZlemrdZ [ZciZkZ
<uoh” gZ nhjkmgdm

lhjl fzghf_ljz

lhjl \Zdmmff_IjZ beb ebgby \kZku\Zgby

J ]mebjh\dzZ ~Z\e _gby

Ilhkz~hggh_ f_klh ih~*h]j_\ZIl_ey

>— —— N < X

'2&



